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Instructions

1) lllegible work, in the oc::o: oﬂ nrm :._m_‘rmq §: earn zero marks.
2) Number your guiestions clearly and mnncaﬂms\
3) Staple your subiriission in the following o_dmw

- Addendum

- Foolscap answers'in carrect order

- Question paper at the back.

4} Employ the relevant mo::c”mm mza mwoz m: s_om._.e,_m o_h p:méma m:o:m :

may not be awarded full marks.’

5) Non prograimmable and zom-.a_.mﬁ_ﬁmm_ nm_hcﬁmnoa 3m< wm cmmn c:pmmm

their'usage is mvmn&nmxu\ E.o_,:uzmn :
6) Round off to 2 amﬁBE Emnmm ,zjm,m :mnmmmmé“ cammm M:mg,cnﬁma
otherwise, - CEERE FER e el e

. . page ¥ ofd

D:mwﬁos 1 € 9 Marks)

Calcutators may not be used in this question

1.1) Complete the following table on the addendum provided. Insert Y
{yes) and N{ no} in each block.

N 7 Q Q' R
164 vo
4 - 4
3/—1489
&m,s k

1.2) Between which two consecutive S.ﬂmmm_‘m n_omm ,\iHN :mﬂ.

Show all your working out. R R
| A w_v fxisa whole number (No), write a <mEm o‘w T
wcn: that:
9—-x
+ X
x—4
.3.1) is non- real e i

1.3.2) is undefined o - 1

1.4) mméaﬂm 1, 56 asan dgmﬁowmﬂ ?mnﬂo: m:oé m: <o§
__Eosczm ocﬂ R R w._

Q:mmqos 24 \_o Bm_.wmv

2.1 gﬁ_EUE the' wo:oésm out and then mﬁam:? s:mE _uoma_u#m

”N;..,: 3a—2{a—1)(1+a) C o S w_
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2.1.2) (a® Nxafée +8

2.1.3) m:ali«&m..a +|.pw+ wuu

2P =x+ 2 m_._a Q mx H m#:_u:?
(P 8% + 8

o
Question 3 {16 Zmﬂ.xmv _

Factorise the E_.ﬂcg_.._w..w::w\ .

3.1) lemﬁwm

3.2) 6bx — &EEGQ,TS@;
3.3} 27a° - 8

3.4) 4a? lm,? Mm
3.5) 57 4 51

3.6) —5.x3 +xz~6
3.7) 6.3% — 17, w_.u_.,_ .+.____m :

Question 4 QM am._n_m&

Simplify 1 ﬁrm *ozos::m EE\

HNRX@.H.._..H

A.,:lciéxlmeﬂx,

. . Page 3 af 8 .

T

4.2)7= X

ax?Exiaz 0 oq

16—x2 2x+3

1.+1]
4.3) y X

¥
h

=
=

15

Question 5 {14 Marks)

Solve for x in each of the following

2 4 3
Du1) e —— =
) x2-2x~8 . 4—-x L2+,

5.2) (e= ) +3) = 24

C53)23%-5=0
B4y bt = 2xa— o

...Ocmw.mom 6(8 Bml@

s eA) Given: —2< =3k 4457

.m.\_. A)solve forx N
o m 1.2) U_mn_m< <0cw answer 8 6. lm : o: a :cavm_,__::m_

6.1. 3) Write your answer ﬂo m 1.1} in interval :o.ﬁmgo: i
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m.uw_. mo_,.\.m.wow”x.. and v respectively

S 2x=y=1
“2 43y = ~Bx

Question 7 { 6 Marks)

7.1) Given 1;-2;-5;...;-62 . .
7.1.1) Determine an m.xu_...m.mm_..on for Ty, the general term of this

sequence. Simplify your answer

7.1.2) xm:nm amﬂmﬁBSm yoz Bmz< nm_‘_,:m there are in the given
sequénce.’ _

7.2) The first three terms of an arithrmetic sequence are
Bx—6;5x+84x—11

Calculate the value of x

- QUESTION 8 {24 marks}

8.1} FEvaluate the *o:osnam :mdsa VSE\ nmpncpmﬁo_- zu m

8.1.1) cos?é + 20

R.1.2) ens?(8 + 20°)

- Page3ofs .

8.2) In the following diagram, BEA = 90° and BDC = 90°

8.2.1)

A
D

In terms of the lengths BC, BD, AB, AD, AC, and/or BC in
the above diagram write down two ratios representing sin

é - » : : e ST AMV

8.2.2} In the same diagram shown above, if B = 22°and BD = 10cm,

8.2.2.1}

8.2.2.2)
8223

: 7 showing it isequal to 4,0dcm ey
State the size of DCA R O]
- Hence, calculate the lengthof AC -~ © (2)

Calculate the length of DC using _“:mo:ogmgm methods,

”m.w_v moEm ._no_. ﬁ:m variable x in the following mn_cmmozm

B3 nxs sﬂmoimfm (0°;907) S ¢
©8.3.2) «__S.m@w +209 =3 where (2x+ Noou . 80 oq...u c
_uwmm.m.n:“. m _




8.4} Evaluate ﬁjw ,qo:oas:m é_ﬂrocﬁ the use of a nmﬂnimﬁo_‘, _.E:m your
knowledge of mwmn_mﬁ mzm_mm _mms:m your answer in m_Bﬁ_mmﬂ surd
form, where :mnmmmmé >n83vm:< EE m:méma 2_9 Sm _
appropriate n:mmasm. g : _ _

B4f) sn60t )
8.4.2) sin 90 R - o e @

8.5.) If Ssin6+3=0 and 90° < <270° use adiagram | B
to determine cos 6 E_ﬁsocﬁ a nm_ncwmﬁo_, and _mm<m <oc_, :

e

answer as a rational ::va_.

8.6.1} cos20° :
8.6.2) tan70 (7).
nw Y
o
R o vmmm.u.o.mm. '

m.
!
i




. Addendum

Name Maths
teacher

1.1) Complete the following table on the addendum provided. Insert.Y
(yes) and N( no) in each block.

a—4 0|

v —1489

T o
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